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AamiREL : 17:00

218 EHBEIRIST LG
Mz =D =8 25 T

R rEa: 1923 B . 735 IN

1Q 2Q 3Q 4Q & &t A& 3=
E B XK = 14 | 21 7 49 3 1% |9
B m K =F| 7 0| 14 7 28 ol 2m |6
,%II\\ﬁiﬂ
F—L|or—5—| B |PLAY PLAYER(S) —K PAT FEEPN
BRI 1 8:26 | RUN | #3 HE 1 K |#21 fir& G 0| 7
EE| 1 9:54 | PASS|#10 & - #11 Zizk 6 | K |[#37 B3 G 717
EB | 2 | 6:21 RUN |#29 /M& 6 | K |[#37 & G 14| 7
EB| 2 |10:49 | RUN [#10 ZEiE 2 K | #37 & G 21| 7
EB | 3 | 0:58 | RUN | #7 Il 66 | K |#37 B G 28| 7
wmA| 3 | 1:45 |PASS|#3 HEh — #86 HE 49 | K [#21 frK G 28 | 14
EB | 3 | 3:38 |PASS|#10 ZEiE — #87 {Ei% 3 K |#37 &% G 35| 14
EB| 3 6:40 | RUN |#10 25 7 K | #37 B G 42 | 14
wmA| 3 |10:46 |PASS|#8 #k — #34 XH 7 K | #21 f K G 42 | 21
EB | 4 | 3:09 |PASS|#10 ZEiE — #1 ZBh0 13 | K [#37 & G 49 | 21
mA| 4 | 8:33 |PASS|#8 # — #34 XH 6 K |#21 #& G 49 | 28
F— L5208k

EBKE HERERKE

BYFREIY EIE= 7 4
BAT 145 lil%iz — EJZIjJ 7 - 7 4 —

25 [E1% — BIh 0o - 0 0 - 0
TJ4—ILRET—)L E% — K 1 - 0 0 - 0
AL TT4 [EIE-4 0 0
TJ7—AREHY (5> —/8x— KAl 24 (15-8 -1 ) 146 — 8 —0)

. I — I —INT 16 —-12 - 1 20 -11 -0
/

EE/Y—K 178 214
Sy B3 —#E BV —FK 32 — 349 31 — 158
nE B3 —#E BV —FK 48 — 527 51 - 372
8l E#H — v—F 2 — 5 6 — 48
27T )L E% — Tk 1 - 0 2 - 1
3rd DOWN CONV. 80% 4 , 5 56% 5 9
4th DOWN CONV. — 0o ~ 0 100% 1T 1
R—ILAT B HEE 21 7 21”7 26 39”7
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